
March, 2002
PW-MANUAL 22 Tab: WGC 

Part Number Description

Pump Information: PK16488 ....................Kit, Pump AR XRCV4G
15125 ........................Chemical Injector
15913 ........................9” Hose ¼”
F035 ..........................Quick Connect
S065 ..........................Clamp (2)
17657 ........................Thermal Relief Valve
16776 ........................E-Z Start Valve Assy.
17098 ........................Inline Filter Assy
D21357 ......................Replacement Filter

Engine Information: GX390K1QA ..............Engine, Honda, 13 HP
M036..........................Key
16990 ........................Oil, 32 oz.

Frame Information: 15116 ........................Frame
16371 ........................Foot
16653 ........................Handle
15972 ........................Cap (2)
C042 ..........................Knob (2)
X003 ..........................Tire, Pneu
F464 ..........................Pal Nut (2)

Hardware Information:
Foot: F064 (qty 1)................Screw, 5/16-18 x 1

F112 (qty 1)................Washer, 3/8’
F119 (qty 1)................Nut, 5/16-18
F078 (qty 1)................Lock Washer, 5/16

Pump to Frame: F112 (qty 4)................Flat Washer, 3/8”
F109 (qty 4)................Nut, Hex
F107 (qty 4)................Lock Washer
F486 (qty 4)................Screw, 3/8-16

Pump to Engine: F107 (qty 4)................Lock Washer
15282 (qty 4)..............Screw, 3/8

Accessory Information: 16757 ........................Hose Assy w/QC
16756 ........................Hi Pressure Hose, 3/8” x 50 ft
F039 ..........................Quick Connect
WB003 ......................Lance Assy
H117 ..........................Lance/Dual 
N04515 ......................Nozzle 15°
N50015 ......................Nozzle, Soap
H111G........................Trigger Gun, 3/8” Female
H100 ..........................Chemical Hose
16850 ........................Bagged Parts

Manual Information: D21684 ........................Manual, General-English-Spanish
15107 ........................Manual, Engine

WGC3540
3500psi @ 4gpm




